
DÜNYA İÇİN ÜRETİYORUZ...

PRODUCE FOR THE WORLD

MERITOR

DX 225 ... 
Series



140 OEM numbers names and logos just only used for references

DEEP NUMBER -  3502 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10030 TAPPET BOOT 2

2 10029 PIN BOOT 2

3 10031 TAPPET BOOT SEAL 2

4 10106 COVER PLATE GASKET 1

5 11500 PIN CAP Ø 42 / 31 mm 2

6 11061 CALIPER PIN Ø 35 / 98 mm 1

OEM NO 7 11062 CALIPER PIN Ø 35 / 98 mm 1

8 11149 PIN BOLT M18 x 2.5 / 90 mm 1

9 11148 PIN BOLT M18 x 2.5 / 55 mm 1

10 11117 END PLATE BOLT M12 x 1.75 / 30 mm 4

11 11116 END PLATE BOLT M12 x 1.75 / 20 mm 2

12 11105 COVER PLATE BOLT M8 x 1.25 / 20 mm 2

13 11111 TAPPET BOLT M10 x 1.5 / 20 mm 2

DEEP NUMBER -  3503 Caliper Pin Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11061 CALIPER PIN Ø 35 / 98 mm 1

2 11062 CALIPER PIN Ø 35 / 98 mm 1

3 11149 PIN BOLT M18 x 2.5 / 90 mm 1

4 11148 PIN BOLT M18 x 2.5 / 55 mm 1

5 11500 PIN CAP Ø 42 / 31 mm 2

6 11466 PIN BUSH Ø 35 x 39 / 50 mm 2

OEM NO

DEEP NUMBER -  3501 Caliper Boots Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10029 PIN BOOT 2

2 10030 TAPPET BOOT 2

3 10031 TAPPET BOOT SEAL 2

OEM NO

MERITOR TYPE

DX 225 ... Series



141www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3504 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3501 BOOT REPAIR KIT 1

2 3503 PIN REPAIR KIT 1

3 11117 END PLATE BOLT M12 x 1.75 / 30 mm 4

4 11116 END PLATE BOLT M12 x 1.75 / 20 mm 2

5 11111 TAPPET BOLT M10 x 1.5 / 20 mm 2

6 11105 COVER PLATE BOLT M8 x 1.25 / 20 mm 2

OEM NO MCK1172 7 11101 PLUG BOLT 1

8 11202 WASHER 1

DEEP NUMBER -  3505 Caliper Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10029 PIN BOOT 2

2 10030 TAPPET BOOT 2

3 10031 TAPPET BOOT SEAL 2

4 11500 PIN CAP Ø 42 / 31 mm 2

5 11149 PIN BOLT M18 x 2.5 / 90 mm 1

6 11148 PIN BOLT M18 x 2.5 / 55 mm 1

OEM NO MCK1193

DEEP NUMBER -  3506 Caliper Push Plate Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11731 PLATE LEFT 120 MM 1

2 11173 CALIPER CALIBRATION BOLT LEFT 98 MM 2

3 11111 TAPPET BOLT M10 x 1.5 / 20 mm 2

OEM NO

DEEP NUMBER -  3507 Caliper Push Plate Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11732 PLATE RIGHT 120 MM 1

2 11174 CALIPER CALIBRATION BOLT RIGHT 98 MM 2

3 11111 TAPPET BOLT M10 x 1.5 / 20 mm 2

OEM NO

MERITOR TYPE

DX 225 ... Series



142 OEM numbers names and logos just only used for references

DEEP NUMBER -  3508 Caliper Bridge & Tubes Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11780 CALIPER SHAFT HOUSING 120 MM 1

2 11059 PISTON LEFT 98 MM 2

3 11766 PIGNON GEAR 35 MM 2

4 11173 CALIBRATION BOLT LEFT 98 MM 2

5 11765 MECHANISM CENTRAL FORK 64 MM 1

6 11767 MECHANISM PIGNON 1

OEM NO

DEEP NUMBER -  3509 Caliper Bridge & Tubes Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11780 CALIPER SHAFT HOUSING 120 MM 1

2 11060 PISTON RIGHT 98 MM 2

3 11766 PIGNON GEAR 35 MM 2

4 11174 CALIBRATION BOLT RIGHT 98 MM 2

5 11765 MECHANISM CENTRAL FORK 64 MM 1

6 11767 MECHANISM PIGNON 1

OEM NO

OKKS  3510 Caliper Adjusting Mechanism Minor Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11427 ADJUSTING MECHANISM LEFT 120 MM 1

2 11204 PIGNON 1

3 11324 SPRING 1

4 11326 WAVY WASHER 2

5 11327 CLIPS 2

6 10079 SEAL 2

OEM NO

DEEP NUMBER -  3511 Caliper Adjusting Mechanism Minor Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11428 ADJUSTING MECHANISM RIGHT 120 MM 1

2 11204 PIGNON 1

3 11324 SPRING 1

4 11326 WAVY WASHER 2

5 11327 CLIPS 2

6 10079 SEAL 2

OEM NO

MERITOR TYPE

DX 225 ... Series



143www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3512 Caliper Adjusting Mechanism Minor Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11427 ADJUSTING MECHANISM LEFT 120 MM 1

2 11204 PIGNON 1

3 11324 SPRING 1

4 11326 WAVY WASHER 2

5 11327 CLIPS 2

6 10079 SEAL 2

OEM NO 7 11765 MECHANISM CENTRAL FORK 64 MM 1

8 11767 MECHANISM PIGNON 1

DEEP NUMBER -  3513 Caliper Adjusting Mechanism Minor Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11428 ADJUSTING MECHANISM RIGHT 120 MM 1

2 11204 PIGNON 1

3 11324 SPRING 1

4 11326 WAVY WASHER 2

5 11327 CLIPS 2

6 10079 SEAL 2

OEM NO 7 11765 MECHANISM CENTRAL FORK 64 MM 1

8 11767 MECHANISM PIGNON 1

DEEP NUMBER -  3514 Caliper Adjusting Mechanism Minor Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10079 SEAL 2

2 11324 SPRING 1

3 11765 MECHANISM CENTRAL FORK 64 MM 1

4 11767 MECHANISM PIGNON 1

5 10108 END PLATE GASKET 1

6 11116 END PLATE BOLT M12 x 1.75 / 20 mm 2

OEM NO MCK1336 7 11202 WASHER Ø 19 / Ø 13 MM 1

8 11104 COVER PLATE BOLT Ø M8 x 1.25 / 16 MM 2

9 11117 END PLATE BOLT M12 x 1.75 / 30 mm 4

10 11105 TAPPET BOLT Ø M8 x 1.25 / 20 MM 2

11 11204 PIGNON 1

12 11427 ADJUSTING MECHANISM LEFT 120 MM 1

MERITOR TYPE

DX 225 ... Series



144 OEM numbers names and logos just only used for references

DEEP NUMBER -  3515 Caliper Adjusting Mechanism Minor Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10079 SEAL 2

2 11324 SPRING 1

3 11765 MECHANISM CENTRAL FORK 64 MM 1

4 11767 MECHANISM PIGNON 1

5 10108 END PLATE GASKET 1

6 11116 END PLATE BOLT M12 x 1.75 / 20 mm 2

OEM NO MCK1337 7 11202 WASHER Ø 19 / Ø 13 MM 1

8 11104 COVER PLATE BOLT Ø M8 x 1.25 / 16 MM 2

9 11117 END PLATE BOLT M12 x 1.75 / 30 mm 4

10 11105 TAPPET BOLT Ø M8 x 1.25 / 20 MM 2

11 11204 PIGNON 1

12 11428 ADJUSTING MECHANISM RIGHT 120 MM 1

DEEP NUMBER -  10108 Caliper End Plate Gasket

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3517 Caliper Shaft Fittings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11781 CALIPER PAD RETAINER 160 MM 1

2 10106 COVER GASKET 1

3 11758 PIN 1

4 11759 PIN LOCKER 1

5 11105 COVER BOLT M8 x 1,25 x 20 MM 2

6 11101 PLUG BOLT 1

OEM NO MCK1155 7 11202 WASHER 1

8 11205 BOLT WITH NUT M8 x 1.25 / 60 mm 1

MERITOR TYPE

DX 225 ... Series



145www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3433 Caliper Dust Cover

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10107 CALIPER DUST COVER 5

OEM NO

DEEP NUMBER -  3518 Caliper Adjuster Sleeve & Thrust Plate Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11780 CALIPER SHAFT HOUSING 120 MM 1

2 11059 PISTON LEFT 98 MM 2

3 11766 PIGNON GEAR 35 MM 2

4 11173 CALIBRATION BOLT LEFT 98 MM 2

5 11765 MECHANISM CENTRAL FORK 64 MM 1

6 11767 MECHANISM PIGNON 1

OEM NO 7 11111 TAPPET BOLT M10 x 1.5 / 20 mm 2

8 11731 PLATE LEFT 120 MM 1

DEEP NUMBER -  3519 Caliper Adjuster Sleeve & Thrust Plate Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11780 CALIPER SHAFT HOUSING 120 MM 1

2 11060 PISTON RIGHT 98 MM 2

3 11766 PIGNON GEAR 35 MM 2

4 11174 CALIBRATION BOLT RIGHT 98 MM 2

5 11765 MECHANISM CENTRAL FORK 64 MM 1

6 11767 MECHANISM PIGNON 1

OEM NO 7 11111 TAPPET BOLT M10 x 1.5 / 20 mm 2

8 11732 PLATE RIGHT 120 MM 1

DEEP NUMBER -  11780 Caliper Shaft Housing

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

MERITOR TYPE

DX 225 ... Series



146 OEM numbers names and logos just only used for references

DEEP NUMBER -  3437 Caliper Pistons & Pignons Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11059 PISTON LEFT 98 MM 2

2 11766 PIGNON GEAR 35 MM 2

OEM NO

DEEP NUMBER -  3438 Caliper Pistons & Pignons Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11060 PISTON RIGHT 98 MM 2

2 11766 PIGNON GEAR 35 MM 2

OEM NO

DEEP NUMBER -  3439 Caliper Pistons & Pignons Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11059 PISTON LEFT 98 MM 2

2 11173 CALIBRATION BOLT LEFT 98 MM 2

3 11766 PIGNON GEAR 35 MM 2

OEM NO

DEEP NUMBER -  3440 Caliper Pistons & Pignons Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11060 PISTON RIGHT 98 MM 2

2 11174 CALIBRATION BOLT RIGHT 98 MM 2

3 11766 PIGNON GEAR 35 MM 2

OEM NO

MERITOR TYPE

DX 225 ... Series



147www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3441 Caliper Central Fork & Pignon

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11765 MECHANISM CENTRAL FORK 64 MM 1

2 11767 MECHANISM PIGNON 1

OEM NO

DEEP NUMBER -  11781 Caliper Pad Retainer

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11325 Caliper Roller Bearings

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3416 Caliper Shaft Fittings Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11624 CALIPER ECCENTRIC SHAFT 1

2 11293 CALIPER NEEDLE BEARING 2

3 10105 SHAFT SEAL 1

OEM NO

MERITOR TYPE

DX 225 ... Series



148 OEM numbers names and logos just only used for references

DEEP NUMBER -  3417 Caliper Roller Bearings Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11293 NEEDLE BEARING 2

2 11325 SHAFT HOUSING BEARING 1

3 11545 HOUSING BEARING SLEEVE 1

OEM NO MCK1344

DEEP NUMBER -  3418 Caliper Roller Bearings Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11293 CALIPER NEEDLE BEARING 2

OEM NO

DEEP NUMBER -  11782 Caliper Actuator End Plate - Left

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11783 Caliper Actuator End Plate - Right

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

MERITOR TYPE

DX 225 ... Series


	



